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PART—A
- SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled (a), (b)
and (c). Read each sentence to determine whether there is any error in any underlined part and
indicate your response in the Answer Sheet against the corresponding letter, i.e., (a) or (b) or (c).
If you find no error, your response should be indicated as (d).

1. A company of five thousand soldiers, having marched tirelessly for over five days,

3. The Olympic

4. The principé.l of the school stressed the need for discipline =~ amongst the students.

(@ , () B ©
No error
(@ :
SDFR-F-TAG/44A 2
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5. Failure is the stepping stone to success; howevef, successive failures are not

(a) (b)
successive stepping stones to success. No error
) sz (d)

6. India’s strengths are its diversity of culture and

(@) (b)

the spirit of tolerance in it’s people.

7. Once consid

largest dwarf

9. To be able to manage one’s

(@)

psychological maturity. No error

(c) (@)
10. A honest mistake is no more than that; just an honest mistake. No error
(@) (b) (c) (@)
SDFR-F-TAG/44A : 3 [ PT:0.
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IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the most appropriate answer from among the options (a), (b), (c) and (d).

11. Counting your chickens 16. Under the weather
(a) confident of success (a) walking in the rain
(b) greedily accumulating wealth (b) controlled by the elements
(c) being careful about spending (c) browbeaten by the heat
money :

(d) unwell

(d) getting scared because of dang

12. The icing on
(a)

(b)

(c)
(@)

(d)

14. At sixes and SeugiSum : in genuine friendship
(@) on top of the situation b) through the best of everything
(b) state of denial o
(c) state of total confusi
(d) well-planned and pre

(d) through difficult times

15. Talking twenty to the dozen 20. Like chalk and cheese

(a) talking hurriedly and rapidly ~ (a) very different from each other

(b) talking too much (b) without any blemish

(c) talking without making sense (c) pure white in colour

(d) talking out of turn (d) very like each other
SDFR-F-TAG/44A 4
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ORDERING OF WORDS IN A SENTENCE

Directions : Each of the following items in this section consists of a sentence, the parts of which have
been jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to rearrange the jumbled parts of the sentence
and mark your response accordingly.

21. but perhaps the best way is to agree there are many ways of dealing
P Q

with them without excessive argumentation with intransigent customers
R

The correct seq
(a) QPRS
(c) PSQR

liberalization

The correct s
(@) PQRS
(c) SPRQ

R

the greatest moment in Indian Olympic history
S

The correct sequence should be

(a) SPQR (b) RPQS
() QSPR (d QRPS
SDFR-F-TAG/44A 5 ~ [P.T.0.
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24. in terms of GDP and GNP, for gauging the success of a nation
P Q

which are the two major determinants economic progress is determined
R S

The correct sequence should be
(@) SQRP (b) RPQS
(c) SPRQ (d) QRPS

25. with the aplomb of a stage artist,

ble into believing

26.

(@ PRQS
(c) SPQR

27. are often rooted the cau
P

in the inequalities of social systems
S

The correct sequence should be

(@) QRPS (b) QRSP
(c) SRQP _ (d) SRPQ
SDFR-F-TAG/44A 6
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29.

30.

a person by the way he behaves and you must judge
P Q R

not by the way he looks
S

The correct sequence should be
(a) RPQS
(b) QRSP
(c) RSQP
(d) QPSR

to the grea

whenever i
R

The correct s
(@) RQPS
(b)) QRSP
(c) RSQP
(d) QPSR

brought by bad times
P

greatest defence
R

faith and belief are
S

The correct sequence should be
(@) RQPS
(b) SRQP
(c) RSQP
(d) QPRS

SDFR-F-TAG/44A 7 [ P.T.O.
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ANTONYMS

Directions : Each item in this section consists of a sentence with an underlined word followed
by four words (a), (b), (c) and (d). Select the option that is opposite in meaning to the underlined word
and mark your response in your Answer Sheet accordingly.

31. He is essentially a crude person. 36. This piece of art is authentic.
(a) coarse (a) genuine
(b) refined (b) expensive
(c) eager (c) rare

(d) balanced

32. His confideng
(@)
(b)
(c)
(@)

population.

33. His integrity i 1 B o el
i il |
(b)
(c)
(d)

(a) clever
(b) muddled
(c) malevolent

(d) ambivalent (d) deviousness

35. His sartorial manner is judged. 40. He has a penchant for spicy food.
(a) unstylish (a) tendency
(b) uncompromising i _ (b) affinity
() common (c) fear
(d) crude (d) dislike
SDFR-F-TAG/44A 8
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Directions : Each item in this section consists of a sentence with an underlined . word followed
by four words (a), (b), (c) and (d). Select the option that is nearest in meaning to the underlined word

SYNONYMS

and mark your response in your Answer Sheet accordingly.

41.

42.

43.

After a good meal, it is important to pay a 46. He is always jovial.
M to the chef. (a) cheerful

(@) tip (b) callous

(b) ‘praise (c) garrulous

(c) admonish

(d) revile
His work is lg

(@)

(a) capable
(b) exceptions
(c) inadept
(d) clumsy

44. He is diligent in
(a) dilly-dallying
(b) procrastinating
(c) intelligent
(d) conscientious (d) sanguine

45. He appears to be reticent. 50. Sachin is very cooperative by nature.
(a) expansive (a) complaisant
(b) jolly (b) covert
(c) silent (c) complacent
(d) withdrawn . (d) conniving

SDFR-F-TAG/44A 9 [ ETO.
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51. 400 J/(kg °C) faftre T wiftar % et g9 54. Fefafaa # & FH-T/FA-8 FoM 4 faegg

H1 ST 1 B, S 20 kJ S WH B4 AT % 19 geHS 9 ¥ AfEdd fi 9w
W FEH YA 15 °C ¥ Fga 25 °C B STt FY Y AT FAT /A BT

8 1. <F Ay YAF B

(a) 0-1kg '

) 1kg ,2' ST AT RUMCHF & |

(c) 10kg 3. 2 Ay fauda Al #

(d) Skg

52. Tl ward % menfaf
% AT @ 5196 wared

x’::“agaaua?lqhw
¥ hTe] ST R de9gTd 39 ail
53. frdl Ry Mg 78 % 98 A qiden T e ST 20 T8 waSE W
it | e B7 N
(@) 9 A 3= B I
TP g5 ;
() S&@ T T @ R oz oW EE
FA Ted B () 10 ohm |
() S& awAF = & R z@ w1 g
gael oY B (c) 05 ohm
(d) & THH I= BV AR FTa F YEA
&A% @ & () 5 obami

SDFR-F-TAG/44A 10
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PART—B

51. What is the mass of a material, whose 54. Which of the following statements
specific heat capacity is 400 J/(kg °C) correctly explains/explain the existence
for a rise in temperature from 15 °C to ” of a positive force between two electric
25 °C, when heat received is 20 kJ ? charges?

B 01 kg 1. Both the charges are positive.
(b) 1kg
2. Both the charges are negative.
(c) 10 kg
(d 5kg : , s are oppositely

using the code

@

(@)
(b) the temperature is low and the (e erin
surface area of the liquid is large
(b) 10 ohm
(c) the temperature is low and the
surface area of the liquid is small (¢ 05 ohm
(d) the temperature is high and the
surface area of the liquid is small (d) 5 ohm
SDFR-F-TAG/44A 11 [ P.F:O.
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56. % fagw ¥4 MmafiE Ao Mo F FRO a0 59. fr=fafed # @ FH-w1 taEfE wiead 27
arelt forggq, & Yard et At #7 '
(@) @ H WHT HTGA AT
(@) =T g8 ¥ Wy -tda ;
: (b) % w1 fUEer
(b) =T Y8 H THRU W I’R M F Hg ;
H ¥R (c) Toreem

(c) amgzﬁf%s@h\ﬂaﬁwm i %?IEFI;EEI?IW

(d) =EF I8
JaRH _
S (+1) 3R

w1 (-2) B, @

57. Pt A FEHC Fwd

(a) fharg
(b)
() =
(d) I

SDFR-F-TAG/44A 12
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56. The electric field lines from an isolated 59. Which one of the following is a chemical

positively charged conducting sphere change?
are -
- _ (a) Dissolving sugar in water

(a) tangential to the conducting

surface

(b) Melting of ice

(b) at right angles to the conducting

surface and towards the centre of (c) Crystallization

the sphere

: d) Milk turni

(c) at any angle to the conducting ‘ (@

surface S
(d) at right ;

surithe g is the correct

dentve 6 of ammonium

58. Refining of petroleum is carrie
which one of the following

y of ammonium
anion is (-2) ?

(a) Calcium oxide

(a) Evaporation
; e X (b) Sodium nitride
(b) Fractional distillation
(c) Separating funnel (c) Silicon carbide
(d) Sublimation (d) Zinc sulphide
SDFR-F-TAG/44A 13 [[PArO:
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62. A I T G 40 3| Fafafaa § @ 65. f=fafas & 4 H-w1 wfiasa $ SI 7o

FH-T1 I qE 27 (STRIE A=) 1 we ®9 § gwiar 27
(@) T F W A G 22 B) (@ Q
(b) T = 6 e 18 R (b) Q/m

() = g B den 18 3 el g om

(d Qm

(@) R F MR R e B -
1 40T 40

. 63. Ne, Sij,
7 £

(a) Ne <

(b) Si<

g daTe! HY qR g AR F I e g
7 e & fore w feft e 27

A0 % Fgoraa:
(@) ¥ ST 6 cycles/ sk ) TR s

(b) T 3R 3 cycles/s @ (c) T8 @Y g0 W Feha: iR gEd 4d g
R SIEA:
(c) 'ﬂﬁ:ﬁlﬂﬁl2 cycles/s &
(@ @ g0 (W9 P ) F sgema: i
(d) @8 afd Fae 1 cycle/s B 70 g (I gt W) F gopa:

SDFR-F-TAG/44A 14
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62. The mass number of argon is 40. Which
one of the following statements is
correct?

(a) The number of protons in argon
is 22.

(b) The number of neutrons in argon
is 18.

(c) The number of electrons in argo
is 18.

(d) Tﬁe sumg o

63. Which one of
order of
Ne, Si, N anc

(a) Ne <Mg
(b) Si<N<
(c) Ne<N

(d) Mg < Ne <

64. The frequency of an alternati
is 3 Hz. It implies that

(a) there are 6 cycles/s
(b) there are 3 cycles/s
(c) there are 2 cycles/s

(d) there is only 1 cycle/s

SDFR-F-TAG/44A
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65. Which one of the following correctly
represents the SI unit of resistivity?

(@) Q
(b) Q/m

(c) Qcm

(d Qm

-carrying straight wire at a point
the wire depends

directly on the distance from it

(c) inversely at short distances and
directly at large distances from it

(d) directly on the distance (at short
distances) and inversely on the
distance (at long distances) from it

[ P.T.O.
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68. T R ft famn (Srgiym) w87 71. f=fafaa § ¥ FF-w1/F9-8 F99 wsflg 3k
Fosffa wforst o s & @t R/37
(@) ML3T2 1. wsfla yoft gfg ik 7owma (fier) wefifa
W Hdl ®, SEfs g goft 9@ W=
b) M-3T2 HohaT 2|
2. gsita woft Jurgert ufskard yefifa @t
(© M2L272 R, vt fsffa ymoft 7€ @t 21

= fow Y g2 1 wEm W Ed W g

(d) M2L—1T—2
: (@) Fad 1

69. TF g HI 40 |
g
(@ 2s
(b) 3s

(c) 4s

d Ss

70. 1 m W S W SeE ol 3\ P 3 & Pe-w Fo @ ()’
o A f i

§, Th 9 Fg WU Bl § S
(@ 6s @amamm%%ﬁtmﬁl
(b) TFEfd wif¥epes #, Wy whifd w
St a1 YaH G £
€ 2s (c) fran #, wur H dww #§ fie
7l
@d@ 1s | (d) <ig HifrRistt # Wt TE B §1
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68. What is the dimension of gravitational 71. Which of the following statements about

constant? ’ living and non-living being is/are
correct?
(@ ML3T2 1. While living being can demonstrate
growth and repair, non-living being
(b) M—1L3 T—2 . cannot.
, 2. While living being demonstrates
(c) M2L272 metabolic processes, non-living

being does not.

(d M2L7'72 Select the correct answer using the code

given below.

69. A ball is
speed of 40

be approximn

(@ 2s

g plant plastids
otein granules?
(b) 3s
(c) 4s
(d Ss
= 7 : one of the following statements
70. The time period of a 1 m long péhdulu B ERCcUolce’ is not correct?

approximates to ants, there is a large central

e that may occupy 90% of

@ 6s total cell volume.

(b) In plant cells, vacuoles provide
(b) 4s turgidity and rigidity.

(c) In Amoeba, vacuoles have role in
(o) 2%s nutrition.
_ (d) Vacuoles are absent in animal
d) -1s cells.

SDFR-F-TAG/44A 17 [ P.T.O.
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74. S U9 § 9 ag Afemt (TR &%) I 77. Frfafaa # & F-w 1w ShamE Ay

IoAEE UNE WEH K &1 3 dfewt (FRfEe YUSH) % HR0 Brar 27
Frafafes & @ fre voR & sawi g *l
whE (@) T
(@) T () | (b) ST
1) e ) (c) Hfs-19
: d) TEHEES
(c) e (WHRITHTEAT) & -

(d) iy Jas

76. Frafafaa & & fre o B T o At wwaw w Rl (gef) g
STeree=t (Yehferm)’ e 1 21 5= M H giEe 8§ R

——

(a) STETHEE
(@) T3
(b) ¥ (b) TS
(c) 2MRErerEe () o
(d) FEgaErsh (o) _ (d) FOTHS
SDFR-F-TAG/44A 18
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74. In aquatic plants, large air sacs give them 77. Which one of the following is caused by a
buoyancy effects. These sacs are bacterial pathogen?
surrounded by which one of the

following types of tissues? (@) AIDS

(a) Parenchyma (b) Dengue fever

(b) Collenchyma (c) COVID-19

(c) Sclerenchyma y (d) Typhoid fever

(d) Complex ﬁssue

75. Which one of
‘Pisces™?

(@) Dogfish
(b) Jellyfish
(c) Sii‘verﬁsh"
(d) Starfish

cged by a pulley on a
a plane by a force anti-parallel
placement. The work done in
e, mass M is

76. Which one of the following g
called ‘amphibians of plant ki

(a) Bryophytes
(b) Thallophytes " - (b) positive
(c) Pteridophytes (c) infinite
(d) Gymnosperms ; (d) negative
SDFR-F-TAG/44A 19 ' [P
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80. 10 kg FWH & vl fohe1 &, @@ 5 N 84. T aw e WHIY FHIH 35 ¥, WHIY F &)

d gRTfed grar 87 Hied W aMiia w% D s cor B B
@ 50 cm /s> Tl R T we el # & w0 A
(b) 0-5 m/s? (@ 1
() 05 cm/s? (b) 3
(d) 50 m /s> .8

@ 7

81. 52 kg TN %1 T WSH 3 kg FAWH.3
foreht fOR Fen-md (ami)qtz pR-dt i, e

énﬁtvgjdmﬁl SA-Th 3 e RU) 1 Saree e 27

(@ 21
(b) :
()’ 1:53 - ) P - €503

@ 251m/s o B/ B - (e u+2ZnS0,

Al(OH)5 + 3HC1

2

82. trh ff 3 41 & i q1 HEA H SIEY,
fie (a1€h) 5752 i 87
(a) FEg
(b) *"“

(c) 3
(d) ¥gd

83. TH wWf @@ N J[HA 1 &

50 cm ®1 1 km # # A hH-H1 FIEGISA T H T RY

e T @ e

(@a)=5.8 .

e 4 (b) R

(c) 3s (c) Il

Mg @ R
SDFR-F-TAG/44A 20
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80. A 5N force is defined when a mass of 84. For an element with atomic number 35,

81. A boy of mass 52 kg jumps with a

10 kg is accelerated with which one of the following will be the
2 correct number of electrons in its
(@ 50 cm/s valence shell based on Bohr’s model of

) 05 m/sg an atom?
(c) 05 cm/s? @ 1

(b) 3
(d 50 m/s?

(c) S

@ 7

horizontal velocity of 2 m/s onto

stationary cart of mass 3 kg. The following is not an

gaction?

of the follo ‘

the cart? [ g 3 AI(OH); + 3HC1

(@ 215

(b) 1:89 m

(c) +ZnS0,

(d) 2:51m

g allotropes of

82. The energy p s with crystalline

83. A sound wave has a freque

electric energy ™

(@)

e of the following is the colour of

and wavelength 50 cm. How
hydrogen gas?

take to travel 1 km?

(a) 58 (a) Light yellow
(b)) 4s (b) Orange
{c): 8.8 (c) Black
(d 2s / (d) Colourless
SDFR-F-TAG/44A 21 [[PT:0.
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88. frfeiRaa & ¥ F-a1 oo (fumie) =& 27 91. f=fafaa & | Fw-dt affEn, smues

TR 1 e IerE &7
(a) 5 siiaame

(a) CH4 (g) 2 202(g) =3 COZ‘g) +2H20(g)
(b) ¥ (afem) (b) 22gCls)—E ™ gl +Cl, )
() W (c) CuO+H, —= 5Cu+H,0

(d) Fe(s)+CuSO, (ag) -
(d) Tafer 5 FeSO, (aq) + Cu(s)

89. WA % waw #, Frafefaa # & Fe-w et 1 ety

e T R g . :
(@) T R h & A 0%

(b):ﬁﬁm@hﬁ:ﬁﬁmﬁm ol LB o s s AT
‘ o)

() MFrRE F I T Sew F ww B (b) Tiesh B (st sTd)
EIcAd! (c) TEIAFA (FTEEEN)
(d) EReh, e H T IEY B (d) TEHOTR (HIFEIhIgaT)

SDFR-F-TAG/44A 22
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88. Which one of the following is not a 91. Which one of the following reactions is an
pigment? example of decomposition reaction?

(@) Zinc oxide ' (@) CHg4 () +20,(g) - CO,(g) + 2H,0(g)

& G (b) 2AgCl(s)—unlght ,oAg(s) +Cly(g)

A v () CuO+H, —H2 ,Cu+H,0
C, € lea

5. (d) Fe(s)+CuSO,(aq) —
(@), e FeSO, (aq) + Cufs)

ollowing is the
of oral

(@

conductors of electrici f?«-; ;
defective?

(b) Bonding in organic compounds is (a) Smooth endoplasmic reticulum
covalent.
(b) Golgi bodies

(c) Graphite is used as a lubricant. (c) Lysosomes

(d) Diamond is an allotrope of carbon. (d) Mitochondria

SDFR-F-TAG/44A 23 RO
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95. @i Il a1 ¥ Fmfea ¥R W Iecrawmar 99. 2 kg FFWH 3R (30 cm x 15 cm x 10 cm)

g Bt 8| Seccrrashar @1 87 et a1 T TR & s # o AW W

(@) e T @ o, R A9us (Jueri) w1 wd
: FA Y FH (W1FE) 30 cm R 10 em ¥

(b) S T » W W o qen (FEdiE) @ wE

(c) ufagE o : FrafeRaa & & =0 gm?

(d) uRegE <

(@ 111.1N/m?
96. WM F M gw Fram % orger, Il oo
Jaehig & 1 faem oiv et Tres 6 nfy
e =1 wifan 8, @ Weft g€ mew frafdl
# ¥ foreh fewn <yl

i F s e it x P
% Xk RIS i

(b) 222.2 N/m?

(@ 3R A\ N TR ' F gEEH F B
(b) K e \h : ‘ L NS S S) @ fomm % taa
3R, ' x: 3 :

() 2R=
(d) 2R=3R,

98, 10 cm HIFH 3 & TF I g}
AL 1 EW, I AW Y 5 T w
o aan &7

@ 20 (b) e 2
(b) 10
© 05
(d) 0-33 ; (d Ad1ARAE2

(¢) 1323

SDFR-F-TAG/44A 24
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95. All objects experience a buoyancy when

they are immersed in a fluid. Buoyancy
is

(a) a downward force

(b) a downward pressure

(c) an upward force

(d) an upward pressure

96. According to Fleming’s right-hand rule, if

98.

the forefinger indicates the direction of
magnetic field and thumb shows
direction of motlon of conductor,
the stretche s

() 2R=3R|
(d) 2R=3R,

What is the magnification /p:
concave lens of focal len
when an image is formed 2
of 5 cm from the lens?

(@) 2:0
(b) 10
(c) 05
(d) 0-33

SDFR-F-TAG/44A

99. A wooden box of mass 2kg and

dimensions (30 cm x 15 cm x 10 cm) is
placed on a table with sides 30 cm and
10 cm touching the tabletop. Which one
of the following is the approximate
pressure exerted on the table?

(@ 111.1N/m?
(b) 222.2 N/m?

(c) 333-3

f aircrafts made of

ge accumulated on
ght, by rubbing the
be transferred to
{0k,

ireraft in flight can easily be
transfcrred to ground on landing.

e correct answer using the code
below.

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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101. 9RdE TsHifos feamum =1 wenfdeh 79, 104. 9 H 62 (Tfclanie) geaa: fra miea W

srofre, eua: e W HEa 27 s 27 -

(a) ST ' (@) <A wifelamie

(b) Tl | " (b) Tafem wiftfarie

(c) ST (RThTR) (c) sl () i

102. %9 & Gledl

(b) A =H IR I : (b) Adreh srftrrear
(c) Fac %, g4 IR T (c) Hafaee sl
(d) T e, =%, 94 3R wqu (d) TgaTEsHY AftrTRar

SDFR-F-TAG/44A 26
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101. Arthashastra, the classical work of Indian
political thought, focuses primarily on

(a) economy
(b) culture
(c) statecraft

(@)

monarchy

presence shown by the early g€
(a) Empty Seat and Stuj
(b) Wheel and Tree only

(c) Wheel, Tree and Stupa only

(d) Empty Seat, Wheel, Tree and Stupa

SDFR-F-TAG/44A

104. The Parliament of India is primarily
based on the model of

(a) German Parliament
(b) British Parliament

(c) American Congress

(d) French Parliament

n one of the following does not fall
fythe jurisdiction of the apex court

Original Jurisdiction

(b) Appellate Jurisdiction

(c) Collegiate Jurisdiction

(d) Advisory Jurisdiction
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107, 9RdE Hen-fogm fawm % sger, feafafaa 109. ¥HER I@d 994, 319 et T % 9R § g

% ¥ g wwr (F@neaE) i faPwar/ g, FE% ar § o ved ot 9 g e
forftyard -t B/%7 I WA F ar § AR e s =9ma #
1. i i &3 ®, oreq waEfy & T A9 I AHRE WG WA 7 AH

U Frafafaa & ¥ fradh/freh smevasar 2rf

2. T WHER: ARG R A w3 AT 79 A R I M FT Ga1 N Fh

3R u® AHEF qG TH -TeH \
It e & (a) 38 M F Fad AW

= fo T F2 1 wEm W w@ W ghu
(@) Fad 1
(b) A 2 P b
© 13 28 v

(d J@1

S ; ‘ (c) Sfio dlo wHo TEfiar 1grw, IWiR AR
(b) Faa faeneff 1 i faeneff 2 FeAdl % Geo o T (eheH) Far §
(c) Faa faeneff 2 i fereneff 3

(d) Iz Fad ¥ AREHE (FATREET) F fag
(d) ferneff 1, foeneff 2 oi foneff 3 I WeE F R
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107. According to the Indian Meteorological
Department, which of the following
is/are the feature /features of
cloudburst?

1. Heavy precipitation in short period
of time in a limited geographical
area

2. It occurs generally during monsoon
period and triggers flash flood and
landslides

Select the correct answer using the ¢
given below.

revolution of the Ea

Who among the above
correct?

(@)
(b)
(c)
(@)

Student 1 only
Student 1 and Student 2 only
Student 2 and Student 3 only
Student 2

Student 1, and

Student 3

SDFR-F-TAG/44A 29

109. While watching news, you hear about a
place, of which you had never heard
earlier. You want to know more about
the place and you want to locate it on
the map. Which of the following is/are
required for you to be able to locate the
place on the map?

(@) Only latitude of the place

(b) Only longitude of the place

ollowing statements
Global Positioning
ot correct?

It is based on the system of
angulation.

()

GPS receivers provide location in
terms of latitude, longitude and
altitude.

(@)

It provides information exclusively
for military operations.

[P.T.O.
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111. Fr=fafas & § FR-w wra =1 wifqafs
T T 27

o S i
(b) THE T S ST
(c) T fuse o smm

(d) TSR Afgen =M

I ¥ Torwent e gan an?
(@) 144 & @
(b) 15t & @
(c) 1 61w @

(d) 174 & g

SDFR-F-TAG/44A

114, T TN e g e SR ) e §7

(a) CHRE TEHER (WGER TaH2)

(b) TEREA

(b) T 1 3R 2
(0 1,23R3

(d 2,334

30
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111. Which one of the following is not a
Constitutional Commission of India?

(@) The National Commission for
Scheduled Castes

() The National Commission for
Scheduled Tribes

() The National Commission for
Backward Classes

(d) The National Commission
Women

112. Which Chir
wrote the
Travels to

(a)
(b)
(c)
(@)

113. The elections to the Lower
Parliament of India, hel@
constituted the
(a) 14th Lok Sabha
(b) 15th Lok Sabha
(c) 16th Lok Sabha

(d) 17th Lok Sabha

SDFR-F-TAG/44A

114. Panchayati Raj Institutions are primarily
the institutions of

(a) Popular Government
(b) Self-Government
(c) Federal Government

(d) Quasi-Government

g is/are the right/
the ‘American

(b) 1 and 2 only
(©: 1,2 and 3

(d) 2,3 and 4

[ P.T.O.
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116. T @ foru sl wgufa 3 s = ‘S 118. TEEI &3 § AT % INH, AR & ey
1, ST % forg R sHar g/t s’ wRr? Temen fe@ar B, st v asf % Frwr oo |
T 3R v're ¥ AR ik mn) fefafea § @

% i fora wfsemn/fr wfretl & oRomree ¥

g R?
1.
(b) oTHE AHHT ¥
2. WA
e & 3. 3ugEm

(d) T Tho Fe

117. 9=t 7 i f

1. U8 W

(@) Fad 1
(b). e 1 9 2
(c) Fad 2 3R 3
(d 1,23R3 (d 1,23R3
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116. Who among the following American, 118. While travelling to a hilly region, you

Presidents described democracy as notice a massive boulder, which was
“Government of the People, for the loosened by heavy rains and moved
People and by the People”? downhill. This has resulted due to

which of the following processes?

(a) Abraham Lincoln 1 A Wetiog

(b) Thomas Jefferson 2. Erosion

3. Weathering

(c) George Washington

(d John F.

117. Inhabitants
rotation of

1%
each p
‘ . g statements in
2. the atmeos aSDE are correct?
Earth : ‘
7 on gentle slopes
3:% there

sy generally occur in clay-rich

Which of the above is/are

quakes trigger landslides.
explanation(s)?

Select the correct answer using the code

(@ 1 only given below.

(@) 1 and 2 only
(b)) 1 and 2 only

(b) 1 and 3 only

d 3 onl
i Sy auly () 2 and 3 only

(d 1,2 and 3 (d 1,2 and 3
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120. @& rifas qimem & er ¥, Fefafaa 122. ‘ienfie wifd’ 92 @1 vEm wduyE fhEs g@

Tt w fomm fifs o T an?
1. ffawaw gda i e A fom el ok H
IS U A F (@) o To &
2. ﬂsﬁﬁmaﬁ(ﬁm)aﬂwﬂmﬁlﬂ (b) o THo WA
% forg Siifamyel & ‘ :
3. wai fabm w9 & vl @ e, e, (c) HieS 2

fraer 3R @A wifte @

1813 I T W

(b) 1793 1 I \F fa Mo
; (b) WETeHT Tieh
(c) 1929 I NET W
(c) THo Hio oY
(d) v fien w e w1 FwEga (),
1835 (d) @ foes
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120. Consider the following features about a
geographical phenomenon :

1. Torrents of snow and ice roaring
down a steep mountain side

2. It is hazardous to skiers and
mountaineers

3. It involves a mix of falling, rolling
sliding and flowing of material “

Which of nomena can

l‘ﬁ,
3

the Charter Act of

(b) the Charter Act of 1793

(c) the Sarda Act of 1929

(d) the Macaulay’s Minute on Indian
Education, 1835

SDFR-F-TAG/44A 35

122. The term ‘Industrial Revolution’ was first
used by

(a) J. A. Blanqui
(b) T. S. Ashton

(c) Arnold Toynbee

(d) R. H. Tawnc&

gar (Servants of the

ad Satyagraha of 1927 was

(a) B. R. Ambedkar

(b) Mahatma Gandhi

(c) S. C. Bose

(d) Lokmanya Tilak

[ P.T.O.
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125. TIYS TN (AT il W W Gl q99) 128. WA UG § A5 s 1 fomR wel | forn

i Tomqan foRam it ofi? T 917

(@) feran s ‘ (@) & @H

(b) e g : (b) TorETt R Y 7 Hin
() aﬁo‘mos«ﬁm

(c) TR Gl (F%d gFEE1) g i g win

(d) Ho TSR

127. %91 3 Ui @i § § = 9, S

SFA (THo To Te) F 37 Y B NG e e e v
& foFm 3w % a1 97 2021 5w
(a) gttt . (a) Tasirm
g, S ) wEE
(c) W . (c) T@I’g(
W @ Ffm
SDFR-F-TAG/44A 5
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125. The Satyashodhak Samaj (Truth-Seeking 128. The idea of Planning in Independent

Society) was set up by India was drawn from

(a) Vinoba Bhave (a) the Bombay Plan

(b) Jyotiba Phule ’ (b) the demand made by peasants

(c) B. R. Ambedkar (c) the demand made by workers’
unions

(d) C. Rajagopalachari
i \vision of India’s

126. The 13th
gives us

comprised the core of the Non-Ali; e of the following States/UTs
Movement (NAM). He was the leac e ected with the Indian Railways
which country in Africa? the year 2021?

(a) Nigeria : (@) Mizoram
(b) Kenya (b) Ladakh
(c) Uganda (c) Manipur
(d) Ghana (d) Sikkim

SDFR-F-TAG/44A 37 [PRO.
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131. IWEUE ¥ e, e wew § g aéd oK

TTE @ AR ¥ qgeRs (§R) T

134, TH-IUTEHREHT HEYUW &6 0 UsEw %

waiftrs =am &9 il GvE FEfefaa § @

Frafeaa 3 ¥ fora Hror @ T/l # o7 foraeht 27
(@) @
(@) S IR
(b) TTEFE (B HTR) (c) Sifeeh
(@) Taem (sfifem)

(c) == Wit @1 = | Rer (dfe)

(d) 9 GH

(@)

TraferRaa § @ fras &9 &7 h Rd * TRl & w1 9 fe e
e, i, GeEl 3 o ¥ U3 fie
(@ 0 s fefafas & & fr &9 =1 0 fen
qrm?
(b) W (@) WAER G2
™
(c) ATSHICHSH & : i
(c) HEH e
(d) TR (d) I &
SDFR-F-TAG/44A 38
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131. The forests of Uttarakhand, Kullu Valley 134. Which one of the following is likely to be
in Himachal Pradesh and Dzukou Valley the most prevalent form of weathering
in Nagaland and Manipur were in the in hot-tropical desert areas?
news on account of which one of the

following reasons? (a) Mechanical

(b) Chemical
(a) Deforestation (c) Biological

(b) Forest fire (d) Leaching

owing cities was the
s of a ‘megacity’?

(c) Poaching of wild animals

135. Which one of

X o o d : ble elevated lands,
(a) 28 States a LOr R u series of scarps
- & B es [of which of the

(d) 29 Sta

ad visited a region in India and

‘ ees, such as Khair, Neem,
Khejri and Palas. Which one of the
following regions is she/he expected to
have visited?

133. Snow, sleet and hail are

(a) precipitation

(b) condensation (a) Malabar Coast
(b) Garo Hills
(c) transpiration
(c) Sunderban Delta
(d) evaporation (d) Desert Region
SDFR-F-TAG/44A .39 [ P.T.O.

Join Telegram : https://t.me/defenceekaksha



138. Frafafaa wuAi w fomm il 141. T @ &, WG Fud To® ufed fory mew #

1. 9 afus a9 o S g w9 3§ @ T & w3 R=fafaa 3 @ B s wm
@d IR ®9idid B B & emft 97

2. ULV, AW SR FHEGU F HRO
Sl &1 FYTR Bl B i) T

IR Forl F A BT /PA-Q TR /R (b) TR

(@) Fad 1 (c) TEH

(b) Fad 2

rarge frafa wm?

HY TSI8F I HE Y

| g Hearl
2 A el (@) wmmﬁfss
P (b) SR ST T
(d) wEE _ (d) = Afeed Fefl Fwa
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138. Consider the following statements : 141. Legendary Kathak dancer Pandit Birju
Maharaj died recently. He was the

1. Rocks do not remain in their doyen of which one of the following

original form for long and undergo Gharabaiiof Kafhak?
transformation.
2. Transformation of rocks is caused (@) Jaipur
by weathering, erosion and ;
metamorphic action. (b) Raigarh
Which of the statements given above (¢) Lucknow

is/are correct?

(d) Banaras
(@) 1 only

export BrahMos

139. Weathering,
transportatio
one of the fo

ing is the Head

ee appointed by the

eme Court of India to enquire into

mstances that led to the Prime

“of India’s convoy being stuck

er minutes on a flyover in
ecently?

140. If you want to observe morai
and outwash plains, whic
following Union Territorie

have to visit?
ve to visi (a) Justice Indu Malhotra

(a) Andaman and Nicobar Islands

(b) Justice Ashok Bhushan
(b) Lakshadweep

(¢) Puducherry (c) Justice Navin Sinha
(d) Ladakh (d) Justice Rohinton Fali Nariman
SDFR-F-TAG/44A 41 RO
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144, 3 § fore o Ffer & sifim e 3§ w fae 147. T A 911 we 3R a1 = afwg F e §7

A 2% Tohehe & g fern? e SO
(@) T < faferd (b) ¥ T
Tk A1 & A

(b) e T ©

(d) T % g
(c) T & =i+
i o 148. IIIEA WHid TV €9 (37Mge Jo Hio Tdo) A
(d) T TR

&) =1 form At §

146, T wigm i, 202175 I, 2

A vra A Frafafaa § @ 5 3
-3 BY ' Q fope e 3 14 sFad, 2022
5 At GF THERR YA HEEA H A
(a) e e an?
i sk (a) ¥ T
(b)Y
fe) SRR (c) @ 3R qRER Feam wed
(d) sHETg : (d) THeA vAEH
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144. Who among the following retired from 147. Who among the following is the

test cricket by bagging a wicket on the Chairperson of the Goods and Services
last ball of his career? Tax Council?

- ; (a) The Prime Minister of India
(a) AB de Villiers

|
(b) Michael Hussey (c) The Speaker of the Lok Sabha
(d) The President of India

(b) The Union Finance Minister

(¢) Quinton de Kock

The Internation ion for Conservation
has recently

ed \ Sanders (Red

(d) Ross Taylor

f India has decided to
(c) K. Radh s€r il Diwas’ on

146. According to the Forest Survey Rep:
2021, area-wise which onef'c
following States has the larges
cover in India? ;

anuary, 2022, which one of
wing ministries has organized a
global urya Namaskar Demonstration

(@ Odisha programme?
(a) The Ministry of Culture

o bl e (b) The Ministry of AYUSH

(c) Arunachal Pradesh (c) The Ministry of Health and Family
Welfare
(d) Chhattisgarh (d) The Ministry of Tourism
SDFR-F-TAG/44A 43 PO,
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